W AR BB SEEEL

& A 8 K ChESK

(tEE&

oot

B IR

il

R R (SRS

2 H &M OGBSk

F50kg

N E — BB ( BRIEER

O B (3E2ER

BB R B/ BEIEER
F55kg

B E B A (sEmpEk

T (tHEESK

3 B 15

S

K AR AW OHESK

SHBITESHK

MOBR KB (/BEIESK

X B B A (SEEEk
=M OE R BaREH

)
37
) (16—
6-5, 10-2
° 0-10TF
)
1 2 3
) F4-0
6
)
38,
)
7 Fop=3’
2-4, 0-2F
) e
53 p—
) TF10-0]
8l
)
39 TE2P=4'21
7-12, 2-9
)
? 0-11TF




fn

tr

e

*

[}

i

DiE

k

1]
=

i

f&o‘

[}

n

S

22N

S

n

U

S

i

R®

puoifsy
T

it ( BEESK

£t (/WEEIESK

& ( ZiFER

i ( BEEEKR

F60kg

B (/\BEIXSHK )

F66kg

— (/IBEIESKR )

B ( BamEE&

th (\EEIESHK )

B (thEESK

13

0-4, 0-6TF

15

E1p=15]]

0-4F

41
0-1, 0-10TF
2 3
TF10-0
o 04—
42 z—o,z—gl
55

09—
5-2, 4-0
16




W Bt

bl

#

b

&

-

>t
B

Fq

S

5

=

!

b4

Ft

i

DiE

e

RE

#OOBEIESR

B ( TEBER

B ( RRER

#® (\BEIERR

F84kg

B (\BEIEXEK

g (

#h ( HAEK

£ (dLEER

ok

7 ( BEE

)
>+

f# ( sEEER

)

)

1 2 .
071
1-0, 6-1
56—
TE1P=1’
21 TF10—0I
4-6, 0-8TF
45
22,
0-10TF
1 2 s
23,
1-7, 0-5TF
57
24
0-10TF
47,
2 0-4,0-6TF




AR

2 & 7

3 M

F96kg

K (\IBETESK

guh
Sy

B W ( BHEERK

K F ( "RER

4 R — BB (BN RER

5 K I

6 2 %

70 P

8 % H

[&)]

e
=
ASSY
/

i ( BHRER

E (BNhRER

B T (/\BEIRER
1R (CGhEER
F120kg
B/ BETRER
g & ( ARE
& IR ( SEEER
MO GRS
E X (BHREER

49
)
2(‘
)W
1 ) ,
)
Q81
) 2-0, 6-1
30
) F1P=1'0
0-4F 3}
)
51
) 7-140

2-6, 5-8



